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QUESTION NO: 1

What is the main source of delay in Cloud VR? (Multiple choice, 2 points)

A. Cloud combing time

B. Network end-to-end transmission delay

C. Terminal processing delay

D. Base station processing delay

ANSWER: A B C 

Explanation:

Question analysis: The delay of Cloud VR mainly comes from the cloud sorting time and the end-to-end network delay, that 
is, the terminal processing delay.

QUESTION NO: 2

The key requirements of the 5G bearer network can be summarized into which of the following aspects? (Multiple choice, 4 
points)

A. Low latency

B. Agile operation and maintenance

C. Network Fragmentation

D. Large bandwidth

ANSWER: A B C D 

QUESTION NO: 3

What are the characteristics of 5G network? (Multiple choice, 2 points)

A. Low latency

B. Large bandwidth

C. High network reliability

D. Too many connections

ANSWER: A B C D 
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QUESTION NO: 4

Which or the following are members of the 5G open trail specification Alliance

(OTSA) ?

A. SKT

B. Vodafone

C. Verizon

D. DCM

ANSWER: A B C D 

QUESTION NO: 5

Which of the following scenarios involve edge computing?

A. AR

B. IOT

C. Auxiliary sensitive computing.

D. Iov

ANSWER: A B C D 

QUESTION NO: 6

What are the main parts of the end-to-end architecture of the power grid? (Multiple choice, 2 points)

A. to generate electricity

B. Transmission of electricity

C. Substation

D. Power distribution

E. Electricity

ANSWER: A B C D E 

Explanation:

Question Analysis: The end-to-end architecture of the power grid mainly includes power generation, transmission, 
transformation, distribution and consumption.
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QUESTION NO: 7

Which of the following services has the highest requirements on network delay? (single-choice question, 2 points)

A. Remote B-ultrasound

B. Telesurgery

C. Electronic records

D. Intelligent infusion

ANSWER: B 

QUESTION NO: 8

Which of the following frequency bands is the 5G spectrum acquired by China Telecom? (single-choice question, 2 points)

A. 3500MHz-3600MHz

B. 3400MHz-3500MHz

C. 2515MHz-2675MHz

D. 4800MHz-4900MHz

ANSWER: B 

QUESTION NO: 9

Which statement is true about big data? (Multiple choice, 10 points)

A. Not a substitute for an effective business model

B. You cannot model once for a lifetime

C. Can replace the role of experts

D. Can not replace the decision-making power of management

ANSWER: A B D 

QUESTION NO: 10

Which of the fowling is a solution for 5G to switch uplink transmission to the sub -3 GHz low frequency band. Effectively 
compensating for insufficient uplink coverage of the C - Band? _SC

A. UL and DL decoupling
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B. Carrier aggregation

C. Duplex technology

D. Multiple access technique

ANSWER: A 

QUESTION NO: 11

In the 5G network, which technology is used to ensure end-to-end service quality? (single-choice question, 2 points)

A. Big connections

B. Millimeter Wave Technology

C. Network Slicing

D. Edge Computing

ANSWER: C 

QUESTION NO: 12

Which of the following is the recommended position for deploying the user data processing module for automated driving? 
_SC

A. Edge cloud

B. Regional Cloud

C. Core cloud

D. Access network

ANSWER: A 

QUESTION NO: 13

Which of the following statements about 5G personnel structure changes is wrong? (single-choice question, 10 points)

A. Fewer FO engineers, replacing humans by machines

B. Traditional O&M jobs still exist, but some jobs are automated

C. Add application operation and maintenance engineers

D. Site operation and maintenance positions exist, and personnel need to increase
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ANSWER: D 

QUESTION NO: 14

The legal name for 1.5G is IMT-2020, which is defined by the ITU-R.

A. True

B. False

ANSWER: A 

QUESTION NO: 15

Which of the following transmission network slicing technologies cannot achieve hard slicing of pipe bandwidth? (single-
choice question, 4 points)

A. FlexETH

B. Port isolation

C. ODUk

D. VLAN

ANSWER: D 
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